F2oZEbrmeEREE (REL) ARER

=
SHAFETAI10BHIT (Bfi: =)
BEIE REE KRS T BFEHK
1 2 Je3t BHEER 1,045
2 INFF HEC AR 671
3 ZIL WIF S 53
3 EiE B AR 53
5 Bl £=C NHK%: 33
*% R T ) 1,915
= b ® R 1,855
it 2h #® R 60
26O EmaEEEEE(LEHINRK) HEGR
SHAETA10B#IT (Bfi: =)
SEIRE Be BEH
1 BHEER 964
2 ITERTER 253.401 =»
3 N 117
4 HARER 87
5 BA#EFRO= 77
6 HERIER 60
7 ERERIE® 590.598 =»
8 NULHFEE 45
9 S 38
10 NHKE 31
11 CIES5D5 5
12 re<lcty) 4
13 HERTIENSE - 37 /EL 3
14 BHASE—5% 3
15 FEEERR 0
® = R # 1,915
=l h 34 = 1,746.999
= h 34 = 168




